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General Instructions :

Preparatory Course in Commerce (PCO-01) Questions 1 - 50

(i)  This is an objective type question paper. Options for the correct answer must be marked
only in OMR sheet.

(it) All questions are compulsory.
(iti) The question paper consists of 50 questions, each of which carries one mark.

(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. of your
correct alternative/answer below the corresponding question number in the OMR sheet
and then mark the rectangle for the same number in that column. If you find that none

of the given alternatives is correct then write 0 and mark in column 0.

(v) Do not waste time in reading the whole question paper. Go on solving questions one by

one. You may come back to the left out questions, if you have time at the end.
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1.  Which of the following is an external user of financial statements ?
(1) Board of Directors
(2) Managers
(3) Employees

(4) Government

2.  Which of the following is not a business transaction ?
(1) Purchase of goods for resale amounted to ¥ 20,000
(2) Purchased a laptop for personal use

(3) Paid rent for office premises I 4,000

(4) Paid salaries and wages amounting to ¥ 40,000

3.  Purchase of goods on cash is recorded in
(1) Purchase Book
(2) Purchase Return Book
(3) Cash Book
(4) Journal

4. Bank overdraft is a
(1) Short term liability
(2) Long term liability
(3) Contingent liability
(4) Mid-term liability

5.  According to the cost concept
(1) assets are recorded at the value paid for acquiring them
(2) assets are recorded by estimating the market value at the time of purchase
(3) assets are recorded at lower of cost or market value

(4) None of the above

6. Valuation of stock at lower of cost or net realisation value is an example of
(1) Consistency Convention
(2) Conservatism Convention
(3) Realisation Concept
(4) Matching Concept
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1. T=fafed 4 @ s faxdfia fqawn = amr swmmedr g 2
(1) ez T
(2) JaUH
(3) U=
(4) IR

2. Tmfafga 4 9 -5 v SR W@ 777 8 2
(1) YAfesha & fTT = 20,000 % AT T T
(2) IR 39T & foIw ues Aueig (Laptop) @{iaT
(3) T 4,000 AT HaT =1 fertram faan
(4) T 40,000 I TF AAG h YAH T

3. T <l "ehg T Tehie femam SITarm 8
(1) 9 98 |
(2) 3HI aTaE T |
(3) kg sl
(4) HaH

4. % AHIW B Th
(1) 3Teushifcte <l
(2) el gt
(3) WTEfiR 2o
(4) TEAE AT

5. TN HehoUdl & AR
(1) NEqfeRT sl 32 U 6 o forw & 78 iyt W fewie foman Sman 2
(2) ufEaRRl 1 3% T B h THY b AT SR eI R e fopan sman 2
(3) uREufel I 3k SR Hod el ANTd, St off A &1, T Repie fora Smar 8
4) 39IE A & Hi T

6. Tl I IWh! AN AT FHaar W qor, St ft & &1, W e T Teh 3Te 2
(1) UHEYAT T HayH
(2) AIERATG T FHraixH
(3) I I Fehed
(4) Them st HehedHT
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7. Abram commenced business on 15t April, 2017 with a capital of ¥ 3,00,000. On 31st
March, 2018, his assets were worth T 4,00,000 and Liabilities ¥ 25,000. Find out his

closing capital.

(1) < 3,75,000

(2) ¥ 1,00,000

(3) < 4,25,000

(4) None of the above

8. Business transactions are recorded
(1) In chronological order
(2) Weekly
(3) At the end of the month
(4) None of the above

9. Real accounts are related to
(1) Assets
(2) Expense
(3) Income
(4) Liabilities

10. Total of Sales Return Book is recorded in
(1) Sales Return Account — debit
(2) Sales Return Account — credit
(3) Sales Account — debit
(4) Sales Account — credit

11. Bank Reconciliation Statement is prepared by matching
(1) Entries in Passbook with entries in bank column of Cash Book
(2) Entries in Passbook with entries in cash column of Cash Book
(3) Entries in Passbook with entries in bank column and cash column of Cash Book
(4) None of the above

12. A debtor account shows a balance.
(1) Credit
(2) Debit

(3) Debit or credit
(4) None of the above
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7. STSW A T 3,00,000 I ST h TA 1 37, 2017 Sl FGE™ TEH FRAT | 31914, 2018
I IFeh! IHEURET T 4,00,000 H TAT IAE T 25,000 Hi off | IFh AfH Yt
(Closing capital) JATd i |
(1) ¥ 3,75,000
(2) T 1,00,000
(3) T 4,25,000

(4) 39 H © Hig TE

8. SIEHIRI wied Nehie fhu Id 8
(1) hlcTshy
(2) dTedTfgsd &9 |
(3) g d H

(4) 39 § ¥ HIg TE

9. dTEafdeh WA et Bd &
(1) yiEafe @
(2) == "
(3) I=H
(4) <R ¥

10. fasha oot oi&) =1 =i fepte fomam Sam 8
(1) Tospa oot @ & Sfee gar o
(2) Tosha oot @ & shfse et |
(3) fasha @rd o Sfoe war o
(4) fIsha @1d o shfse vt o

11. S THYH foeror dar feran S 8 e s &
(1) e § € T IfafS=i 1 Uehg &) & o sia | < T8 yfafsai & @y
(2) UTEEH | < 5 AT 1 Uhg el o Uhe hicH H &1 T3 AT b 19
(3) UTEEH H ¢t g WA I Uhe &l o sh HicH T Uhg HhicH H &l T TGS &
1

(4) 39 H ° HIg TE

12. T ¢GR 1 WAl gidl 3
(1) shiee 3w
(2) 3foe 3y
(3) sfee tuan Hise 9w
4) IwE 4§ w1 T
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13.

14.

15.

16.

17.

18.

19.

Depreciation is a process of

(1) Valuation of asset

(2) Allocation of cost

(3) Both of valuation of asset and allocation of cost

(4) None of the above

Three days are added for ascertaining the date of maturity. These are known as days
of

(1) Maturity

(2) Grace

(3) Payment

(4) None of the above

Goods damaged should be credited to
(1) Trading Account

(2) Goods Damaged Account

(3) Sales Account

(4) Profit and Loss Account

Purchase of office equipment worth ¥ 2,200 has been debited to the General Expenses

Account. It is
(1) Error of Omission (2) Error of Commission

(3) A clerical error (4) Error of Principle

Machinery owned by a firm should be classified as
(1) Fixed Assets (2) Current Assets
(3) Liquid Assets (4) None of the above

Return Outwards appearing in the Trial Balance is deducted from
(1) Purchases (2) Sales
(83) Return Outwards (4) None of the above

Prepaid insurance is shown as
(1) An asset (2) A liability
(3) An expense (4) Anincome
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13.

14.

15.

16.

17.

18.

19.

ToABTH T AlhAT &

(1) aNEdRT o qeden i

(2) v R

(3) UNEYTd % HodTehd T AFTd farad gt h
4) IwdxE 4§ w1 T

gfgeraar <t fafsr s/a @ & foe = fea S S 2 | 5= a1 San 2
(1) uftgererar = feq

2) foma = e

(3) YW @ T

(4) 9 4 H B3 TE

AT <l B Bl shige Temam ST =i

(1) =YX @ |

(2) | & @ |

(3) fosha @ma &

(4) AU @d §

HETAT TR T T 2,200 HT 3HT THT 3 @Td i Sfee foham 71 | 98 2
(1) < 37y (2) @THE HI g
(3) & (clerical) 3fg (4) agifas mfg

T HH o WTHeE aTelt Ji- afihd shi ST =TT

(1) Tomht gfEafai & &9 ° (2) =T IREIREl o ®9 H
(3) A gfEufE & w9 (4) 39Y® § 9 HIg TG
qdue | & 78 Fia ot <k afy =erE S g

(1) HAHA (2) fospad @

(3) foia amei ¥ @ (4) 39YE U ¥ HIg T8
qaea s fe@men S B

(1) U gfEafd o &9 H (2) Tk eIl o &9 H

(3) Uh I ®IH (4) TH AT & ®IH
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20.

21.

22,

23.

24.

25.

A Dbill of exchange has parties.
(1) Two (2) Three
(3) Four (4) Five

Double entry system of book-keeping is a system of
(1) Complete records

(2) Reliable records

(3) Providing true financial position

(4) Al of the above

A donation received for special purpose is to be taken as
(1) Capital expenditure

(2) Revenue expenditure

(3) Capital receipts

(4) Revenue receipts

Which of the following is a nominal account ?
(1) Rameshwar Account

(2) Sales Account

(3) Machinery Account

(4) Outstanding Rent Account

A basis of accounting according to which accounts are prepared for cash and credit

transactions is called
(1) Cash basis

(2) Accrual basis
(3) Mixed basis

(4) Dual basis

Which of the following expenses are shown on the debit side of Profit and Loss

Account ?

(1) Freight Outwards
(2) Wages

(3) Sales

(4) Rent received
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20.

21.

22,

23.

24.

25.

= s % T&THR B 8 |

(1 @ (2) o
(3) =X (4) U=
TEETd < qred ity gomeft R

(1) @qof frepret i gomeft
(2) Tovagdia feriet St youmedt
(3) @& foxfia feafa wem = 6t yomedt

(4) 3Iugh aoft

T oIy 32w Bq W g8 g <1 Tl A St R ok
(1) dSiTa ==

(2) AT T

(3) YStiTa STt

(4) AT Tt

Frafaftaa @ @ -1 s = @ R ?
(1) THYeR 6T Gl

(2) Toaspa @man

(3) W= @rdn

(4) ST TRTRT @A

TETHRT T I8 MR Eh JTER Tohg Td IUR G JHR o oHeHT & oIl @Td IR
fopu ST &, shgarr @

(1) g ATER

(2) 3UTSH 3TTYR

(3) T smum

(4) TR YR

fr=fafed # @ ®F-9 == dv-gi @rd & Sfee vy # foem S g 2
(1) S WSt

(2) wigl

(3) forspa

(4) wTed g3 foRern
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26. Accounts are divided into
(1) Personal Accounts
(2) Real Accounts
(3) Nominal Accounts

(4) Al of the above

27. Debit means
(1) Anincrease in asset
(2) An increase in liability
(3) A decrease in asset

(4) An increase in proprietor’s equity

28. The primary qualities that make accounting information useful for decision making
are

(1) Relevance and freedom from bias
(2) Reliability and comparability
(3) Comparability and consistency

(4) None of the above

29. Use of common unit of measurement and common format of reporting promotes
(1) Comparability (2) Understandability
(3) Relevance (4) Reliability

30. Agreement of Trial Balance is affected by
(1) One sided error only
(2) Two sided error only
(3) Both (1) and (2)
(4) None of the above

31. Favourable bank balance means
(1) Credit balance in Cash Book
(2) Credit balance in Passbook
(3) Debit balance in Cash Book
(4) Both (2) and (3)
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26.

27.

28.

29.

30.

31.

Qrd 91 I 8

(1) oARATd @rdi o &9 d
(2) darfee @Al & &9
(3) NI4T Widl o €9 H

(4) 3Iugh aoft

Sfoe &1 19 B

(1) uhea 9 gfg

(2) <Far ¥ g

(3) ufwafrd # it

(4) @rft % T (3fkEd) 9 3fg

d g foRivamd St oi@ieh SRl i vl o | ggrear ot §, 9 @
(1) GETd1 T qaiug 8 w&asd

(2) TAdar va qerTeneRd

(3) qoTcHehdT Td Tl

(4) SHI® 4 H B3 TE

HT9 3l FH $hTs 1 ITAM a1 A o &1 TAE &9 AMIRg Fd &
(1) qoHTeHshar 6 (2) HHEH

(3) FHETaT i (4) Togemrfigar 6
qoqe okl Tier gwiferd gidr 8

(1) had 3ohadl 3Tfg g1
(2) had gl ITfg g
(3) (1)@ (2)3Mt

4) 39IE A & w1 T

S 3% A9 & A B
(1) e o7 | shise oW
(2) UHSH T shise Iy
(3) kg =& | Sfore 3w
(4) (2)TA1 (3) QA
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32.

33.

34.

35.

36.

37.

When a firm maintains a Cash Book, it need not maintain

(D
(2)
3)
4)

Journal Proper

Purchase (Journal) Book

Sales (Journal) Book

Bank and Cash account in the Ledger

Simple Cash Book records

(D)
(2)
3
(4)

All transactions
Cash and Bank transactions
Only cash transactions

Only credit transactions

The financial statements consist of

(D
(2)
(3
(4)

Trial Balance

Profit and Loss Account
Balance Sheet

Both (2) and (3)

If the insurance premium to be paid is ¥ 5,000 and prepaid insurance is ¥ 1,000, the

amount of insurance premium shown in Profit and Loss Account will be

(1)
3)

¥ 6,000 (2) ¥ 1,000
T 4,000 (4) ¥ 5,000

Incomplete records mechanism of book-keeping is

(1)
(2)
(3)
(4)

Scientific
Unscientific
Unsystematic

Both (2) and (3)

Deepak wants to buy a building for his business today. Which of the following is the

relevant data for his decision ?

(D
(2)
(3)
(4)

PCO-01

Similar business acquired the required building in 2005 for ¥ 10,00,000
Building cost details of 2011

Building cost details of 2003
Similar building cost in August 2013 < 25,00,000
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32.

33.

34.

35.

36.

37.

e Ush BH Uehg @l Wad! &, I 36 W@ <hl ATawIehdl &l aidl
(1) T&F S d

(2) A (I) FE

(3) fasha (SFa) odt

(4) W9 | § Td Uhg @

YT Yhe a1 | Tehis fopU 9ITd &
(1) &fi oA
(2) TG TI Seh TTad

(3) <hdd Ahg A

(4) <hddd IYN A-cH

forher feremont o sfet
(1) daue

(2) Y- @

(3) dod-9A

4) (23 (3T

e <ffwr sfifirr 1 e 6 S arelt Ui T 5,000 @ 91 qeed sfimT S AT T 1,000
7, A g1 @rd § fearh s areft st sfiftem <6 ufs geft

(1) ¥ 6,000 (2) ¥ 1,000

(3) ¥ 4,000 (4) ¥ 5,000

EETdl <t o7t fehr fafer Bt 3
(1) o=k

(2) AT

(3) 3IrFafedq

4 (29 (3T

AUk A AU FIET & AT Tk W T w1 =rEar 7 | Fefoifaa # @ w-mn 3@
ol o fore gema & 2

(1) T9EY G 4 2005 H AEYTH 9o T 10,00,000 H TeT o

(2) 2011 h 9o T AT hH A

(3) 2003 <h WaT T AT T TR

(4) TTEd 2013 H TH & Wed i @ T 25,00,000 ot
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38.

39.

40.

41.

42,

43.

44.

If the insurance of one month is still to be paid, the adjustment entry will be
(1) Debit outstanding insurance account and credit insurance account

(2) Debit profit and loss account and credit insurance account

(3) Debit insurance account and credit profit and loss account

(4) Debit insurance account and credit outstanding insurance account

Choose the correct chronological order of ascertainment of the following profits from
the Profit and Loss Account :

(1) Operating Profit, Net Profit, Gross Profit
(2) Operating Profit, Gross Profit, Net Profit
(3) Gross Profit, Operating Profit, Net Profit
(4) Gross Profit, Net Profit, Operating Profit

Which of the following is not an error of principle ?
(1) Purchase of equipment debited to purchase account

(2) Repairs on the overhauling of second hand plant purchased, debited to repairs
account

(83) Cash received from Mohini posted to Sohini

(4) Sale of old machinery credited to Sales account

Wages of workmen employed for setting up new machinery should be debited to
(1) Expenses Account (2) Wages Account
(3) Machinery Account (4) Cash Account

Capital Account is classified as a
(1) Real Account (2) Personal Account

(3) Nominal Account (4) Impersonal Account

Which account will be debited if Mohit commenced business with cash ?
(1) Cash Account (2) Drawings Account
(3) Capital Account (4) Proprietor Account

The last step in accounting process is
(1) Recording the transaction

(2) Communicating to the users

(3) Analyzing and Interpretation

(4) Preparing the source documents
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38.

39.

40.

41.

42.

43.

44.

afe weh 7dH % S k1 et oft A foRn 9 R, gHes fore wmEeE wfafy gt
(1) 37ed < @1d i Sfae L a9 | @+ shige
(2) TU-ETH @Td ! Sfee L a°n fiHr @id a1 shige
(3) "1 @Td i Sfere L qn AW-gH @Id *l shise &
(4) <mT @Td i Sfee B a1 7gd U1 GId H shige H

Y- ©1d & ffafad @il 6t 91 FH & 98 HTcAshy B =TI HINT
(1) S=TeH A, Had A, dha aw
(2) T @9, Hehal o, et @y
(3) Hehed A, YT &, fHad g
(4) THA A, Had AT, JETAH 1w

ffafed o & -5 g T dgifas |G 787 8 ?
(1) SUER 1 S, HT GTd I Sfae fomam T

(2) 3 TohT MU U T & SAUigR @ T 61 78 T 1 99 TUHd @Td 6l Sfee

IERIRIEI

(3) Hife-ll & WA g8 ohg TR Hifel < @rd H fe@rht mh
(4) 9T aefi o1 foshar, fosha @Td st shfse fopam m

Tft weflm @ % o g feee o sfirel 1 @ it wegdl Sfee i S =R

(1) = @rd & (2) wsigll @rd

(3) wRA @ (4) THE G HI

ISt @ afiehd foRaT ST @ T

(1) dTEqfdes @ & &9 | (2) AHTd @id & ®9 H

(3) AT Gid o ®9 H (4) STIRHTT Gid & €9 H

Ife Mg 3 Tohe TN gRT I I fopam a1 380 for @1d 1 Sfae fomam smom 2
(1) ThS @I ! (2) 3ME WTd

(3) Gt @rd (4) T % @A i
TAETRTT Ufsham | 3Tfqd S92

(1) e sl fepie
(2) SYARTHATST T FHId B
(3) Tovemwor qen fe=m
(4) ©IG I9 IR HEAT
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45. Discount for purchasing in large quantities is normally referred to as
(1) Trade discount
(2) Prompt payment discount
(3) Cash discount
(4) Bulk discount

46. The Standard format of Journal includes
(1) Assets Column (2) Liabilities Column
(3) Narration Column (4) Ledger Folio Column
47. A statement showing assets and liabilities of the business as at the end of an
accounting year is called
(1) Trial Balance
(2) Balance Sheet
(3) Ledger

(4) Journal Proper

48. The other name of Journal is
(1) Ledger Account
(2) T-shaped Account
(3) Day Book
(4) Cash Book

49. Discount received is a kind of deduction from
(1) Accounts Payable
(2) Accounts Receivable
(3) Cash Account

(4) Discount Account

50. The process of recording transactions in different journals is called
(1) Posting
(2) Entry making
(3) Adjusting

(4) Journalizing
PCO-01 18



45.

46.

47.

48.

49.

50.

TS AT H 6T H W A 55 Qe (Feldl) I hHaawd! 8
(1) =AM B

(2) 39 YIaH B

(3) g W

(4) o G

I o A IEY | I 3
(1) viEufaat siam (2) IATE hicH
(3) AT HicH (4) A BIfeTa i

98 faetor S U @1 9¥ & 30 hl @IS YNEURGA U ISl i ¥l R,
FHEAT &

(1) doue
(2) dad-9=
(3) Wrdr-sal
(4) e fomy

S T GET T 8

(1) R @

(2) T-=Fd (IATH{) AT Gl
3) < =

(4) Thg &

T §8 el & Teh TR hl HHl el

(1) @HEdH

(2) I @ H

(3) Ushs @I H

(4) e @ |

fafia el # el ot Tehre i i Ufshan et 7
(1) @

(2) WS T

(3) TN HET

(4) e gfafE &
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SPACE FOR ROUGH WORK
T 1A o foTT g
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